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3XML�V\XNXU�SHQXOLV�XFDSNDQ�DWDV�NHKDGLUDW�7XKDQ�<DQJ�0DKD�.XDVD�\DQJ�

WHODK�PHPEHULNDQ�VHJDOD�NDUXQLD�UDKPDW1<$�VHKLQJJD�SHQXOLV�GDSDW�PH\HOHVDLNDQ�

WXJDV� DNKLU� GHQJDQ� MXGXO� ³6LVWHP� 3HQJRODKDQ� &LWUD� 3HQGHWHNVL� -DOXU� 3DGD�

0RELO�/LVWULN�2WRQRP³�� 7XJDV� DNKLU� LQL�PHUXSDNDQ� V\DUDW� XQWXN�PHQGDSDWNDQ�

JHODU�VDUMDQD�7HNQLN�(OHNWUR�GL�8QLYHUVLWDV�7HONRP��

'HQJDQ�WHUVHOHVDLNDQQ\D�WXJDV�DNKLU�LQL��SHQXOLV�PHQ\DGDUL�EDKZD�VNULSVL�

WXJDV� DNKLU� LQL�PDVLK� MDXK� GDUL� NHVHPSXUQDDQ��ZDODXSXQ�SHQHOLWL� WHODK� EHUXVDKD�

VHPDNVLPDO� PXQJNLQ�� 8QWXN� LWX�� NULWLN� GDQ� VDUDQ� WHWDS� GLKDUDSNDQ�� JXQD�

NHVHPSXUQDDQ�VNULSVL�WXJDV�DNKLU�LQL��

8FDSDQ� WHULPD� NDVLK� GDQ� SHUPRKRQDQ� PDDI� \DQJ� VHEHVDU�EHVDUQ\D�

GLVDPSDLNDQ� SXOD� NHSDGD� VHPXD� SLKDN� \DQJ�PHPEDQWX� KLQJJD� WHUVHOHVDLNDQQ\D�

SHQXOLVDQ�WXJDV�DNKLU�LQL��2OHK�VHEDE�LWX��SHQXOLV�PHQHULPD�VHJDOD�EHQWXN�NULWLN�GDQ�

VDUDQ�\DQJ�EHUVLIDW�PHPEDQJXQ�GDUL�SHPEDFD�XQWXN�SHUEDLNDQ�GL�PDVD�\DQJ�DNDQ�

GDWDQJ��

'HQJDQ� VHJDOD� NHUHQGDKDQ� KDWL�� SHQXOLV� EHUKDUDS� VHPRJD� WXJDV� DNKLU� LQL�

GDSDW�PHPEHULNDQ�PDQIDDW�\DQJ�VHOXDV�OXDVQ\D�GDQ�PHQMDGL�VXDWX�NHEDLNDQ�EDJL�

SHPEDFD�GDQ�SHQXOLV�NKXVXVQ\D��VHUWD�EDJL�GXQLD�SHQGLGLNDQ��
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